ABC STANDARD CAGE ON 1-SIDE.idw

NSNS S S S SN S SRS
NS S S S S NN\

Iy

0

EX07X07-dMM

@26/1k

a:\n‘

.

Wall bracket for door

&

B S

e e~ —

KKR-40x40x3

) — . e .

"

Details: see folder
Lock system

"

_—m—a—a—e—— =

_ [ EE———— L |

\ CRnTEEEEC GG EEEE  ERRRERRRRRE

\.

L]

o

LT LT R

LSS S UL SR UR N R NTNN YO RNy

MAAAAALLALARRREN AR ARINS
S SN S S SSS SSSSRE S SSS

sabuiy / walshs ya07,

3P0} 33s :S|Iel3Q

185

1510

185

T e e Ve Y

TANL L

Made ready for lock case:
LK410-50 and LK411-50.

Assa Abloy
LK310-50, LK311-50

PL37x0x4

2. Expanded metal (Flattened 50x23/2,8x2mm - standard

1. Welded wire mesh (30x30x3mm-standard).

Can be delivered with:

Long way mesh vertical)
3. Perforated sheets (2mm, round holes 210, pitch 15mm - standard).

Vi ansvarar ej for trappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Moster Skuggas Vig 7

64171 ARVIKA SWEDEN

Tel 0571-181077

ww.abesolutions.se

Rev

Ritn.nr

ABC STANDARD CAGE ON 1-SIDE.idw

DwgNo

surface treatment

Ytbehandling

Ref dwgs

R

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

Al |
s =32 MM
£3
o~
|
N
x q
n o
m 2
o~
v =
_
T !
a
“— U
= v ~
2 w
2 =
2
s
8
S
=
£
@ R
b= 2
@ =2
o
[
WBO
[= gs
S v T8 o
= w|eF| R
T M3 e
o T35 =2
3 T=
=
— o
u S
c o
S m|s
S QEg
v o|gS 3
SVl B
=
o=
c g
=
o
rso
[CRZ R .
o |+ 8
[N R
[
»n
a2
o
c o
o c
[ =N PN
T OIS o
S G|e S| o
+— O3 e "
o |22
— 2
o ©
[
]
c
@
(=) R o
o S|
g W
3=
=2

07X3
0601 N3-Nd

Protection sheefs are not required for this solufion.

Comments

1. All indeterminate welds: T-welds as fillet welds a = 3




ASSEMBLY OF ABC STANDARD CAGE ON 1-SIDE.igw

Quality
HDG
HDG
HDG
HDG
HDG
HDG
HDG

B
A

AB
AB
C
C
(

Reference

DIN 931 /IS0 4014
DIN 934 /SO 4032
DIN 125 / IS0 7089

DIN 933 / IS0 4017
DIN 934 /IS0 4032
DIN 125 / IS0 7089

Standard
DIN 933 / IS0 4017

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Ytbehandling

surface treatment

Moster Skuggas Vig 7
64171 ARVIKA SWEDEN

Tel 0571-181077

ww.abesolutions.se

ABC STANDARD CAGE ON 1-SIDE.idw

Ritn.nr
DwgNo

en. folerans
] i General folerances
Ref dwgs

Tifel

Title

Konstr. | 271021-TM

Fixing Elements

M8 x 20 Hexagonal head bolt
M8 Hexagon nut
Washer for M8

M12 x 25 Hexagonal head bolt
M12 Hexagon nut
Washer for M12

DET.3

M8 x 100 Hexagonal head bolt

N 7 /7 7 RS T R T i
U 277 NS R T Ny
L/ § \ AN ﬂf/ N\ AN '
/2 NS BERTUUTTUOO R
NV \../..»l’ﬂ«&ﬂw SRS AN NS
S\ MR NERN Ny

\\\Qw&m\\.ﬁ&%ﬂ!« N
LT INCK A PR

v

7, NN\
i N\

i\ S
T T O W, R, W W, W W W, W W W, W,
N

\f
\ // N AW NTX_ YA N_\_A/R /NLA_NS _
) A4 /AY, Fﬂdm&‘\ AV, B RS
\ A\ N OVYA S WX YA SSHTAR

NN A XA SASXYAN
\AVASANND 7790 @V AVAYAS. N\
\ ) /éﬂﬂr XXX SSKISIXN
QNN AAY: AVALY|
N 4. \ M. 7B YAV AVANA

N

NS XL AN AVAANAN

DET.1

[ [ /L))
/[

/7 7
/[ / /[ /[ /[ /[ )/ [ M
\\ \\\\\\\\\\\\\

DET.2

DET.1
DET.2

Materi

Steel S235JR
NS/SS-EN 10025-2

General tolerances regarding the construction welded
according to NS/SS-EN SO 13920 class B

Above 4000
+8

Above 2000

to 4000
6

Above 1000

to 2000
L

Above 400
to 1000
3

Above 120
to 400

Above 30

to 120

07X3
0601 N3-Nd

Comments

1. All indeterminate welds: T-welds as fillet welds a = 3

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.




ABC STANDARD CAGE ON 1-SIDE.idw

Comments

1. All indeterminate welds: T-welds as fillet welds a = 3

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

PN-EN 1090

EXC2; CE

General tolerances regarding the construction welded
according to NS/SS-EN SO 13920 class B

Above 30 Above 120 Above 400 Above 1000 Above 2000 Above 4000
to 120 to 400 to 1000 to 2000 to 4000
1 2 43 b 6 +8

Material

Steel S235JR
NS/SS-EN 10025-2

Anfal
Quantity

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Tifel
Title

Ytbehandling
surface treatment

Massa
Mass

=16

Gen. folerans
General folerances.

EN 15013920:19% B

w2 A2
1:20

Konstr. | 21.1021-TM

Sod

Ref dwgs

Moster Skuggas Vig 7
6411 ARVIKA SWEDEN
Tel 05H-18107%

i wwwabcsolutions.se

Ritn.nr

DwgNo ABC STANDARD CAGE ON 1-SIDE.idw

Rev




T e 0 T =
S I T R

|‘U’ T T

i il il
]
™=

S

Details: see folder

"Lock system / Hinges”

Made ready for lock case:
Assa Abloy

LK310-50, LK311-50
LK410-50 and LK&411-50.

Can be delivered with:

1. Welded wire mesh (30x30x3mm-standard).

2. Expanded metal (Flattened 50x23/2,8x2mm - standard
Long way mesh vertical)

3. Perforated sheets (2mm, round holes 810, pitch 15mm - standard).

Protection sheefs are not required for this solution.

50

T
[ e

N juh T

=1L

AN\

1000

height

\,

Details: see folder

“Lock system”

ABC STANDARD CAGE ON 2-SIDES.idw

PL37x0xk
<:> L40x40%3 ¢§§

[ ] LA 1 0
£l

KKR-40x40x3

Ll

@ +1 pc mirrored

\

RS S S ES NS TR

A N AV A
RS S CS SN NN NNY

Comments

1. All indeterminate welds: T-welds as fillet welds a = 3

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

General tolerances regarding the construction welded
g w according to NS/SS-EN SO 13920 class B
= Above 30 Above 120 Above 400 Above 1000 Above 2000
2= to 120 to 400 to 1000 to 2000 to 4000 Above LU0
o
+ +2 +3 b 6 +8

Material

Steel S235JR
NS/SS-EN 10025-2

Vi ansvarar ej for trappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Tifel
Title

Ytbehandling
surface freat

Mass

Massa

=16

Konstr. | 251121-TM

Sod

| 12.10.21-HB
—

Ref dwgs

Moster Skuggas Vig 7
64171 ARVIKA SWEDEN
Tel 0571-181077

 wwwabcsolutions.se

Re
DwgNo ABC STANDARD CAGE ON 2-SIDES.idw “




Rev

Quality
HDG
HDG
HDG
HDG
HDG
HDG
HDG

Moster Skuggas Vig 7

64171 ARVIKA SWEDEN

Tel 0571-181077
ww.abesolutions.se

B
A

AB
AB
C
C
(

Reference

DwgNo ABC STANDARD CAGE ON 2-SIDES.idw

Ritn.nr

Standard
DIN 931/ 1SO 4014

DIN 931 /IS0 4014
DIN 934 /SO 4032
DIN 125 / IS0 7089

DIN 933 / IS0 4017

DIN 934 /IS0 4032
DIN 125 / IS0 7089

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

] i General folerances
Ref dwgs

surface treatment

Ytbehandling

DET.3

Fixing Elements
M8 x 60 Hexagonal head bolt
Washer for M8
M12 x 25 Hexagonal head bolt
Konstr. |2911Z1-TM

Tifel
Titlg

M8 x 100 Hexagonal head bolt
M8 Hexagon nut
M12 Hexagon nut
Washer for M12

Steel S235JR
NS/SS-EN 10025-2

Materi

Above 4000
+8

Above 2000
to 4000
6

Above 1000
to 2000
L

Above 400
to 1000
3

a N
3

N m
T\ :
4\\ \\ AN . - -
: N N\ S R
- L‘-SY/ZY A%ﬂﬂﬂﬂﬁﬂﬂﬂ-@[ﬁ
N/ // 7, nﬁﬂywiiﬁliii!i, N
, N A, WA A SRY T\ X \ 200
7 A\ AT S RN ///////4M% -
” /. \\ GAANRNN. N / 0601 N3-Nd

Above 120
to 400

General tolerances regarding the construction welded
according to NS/SS-EN SO 13920 class B

to 120

Above 30

WVAR/A awmv: A

4,,\&\\

N A
X\ —ANZZN_ S\ AN W W W W W W W W74\ N
T T O O O WA W W W W W W W WA

). %‘ i " va s N ———

8 7N ANM: AVAGIRS NNMN \ AN
o\ ANV AVAIAS 7.8 S N NN S
DX\ NN N\ XK XA SRR A\ A\ A\ A\ N\ W
W VN N\ X7X XN\ AT O\
NSOXAN XX XA\ N\ AY N\ AN
K XX N\ NX PUAAAAATA N
N\ X7X X /X X AN AN\ Wy 2
<b<>'ﬁ,,4$“u§»$’\‘\ws, //Mﬂ"”’ﬁb

NN N N N N N N —

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. All indeterminate welds: T-welds as fillet welds a = 3

Comments

\
\
\

8 N\

NNAAAAARARAE N
NAVAVARAVAVANANA N

ASSEMBLY OF ABC STANDARD CAGE ON 2-SIDES.idw

/[ /L))
/[
[ [

DET.2

DET.1
DET.2




ABC STANDARD CAGE ON 2-SIDES.idw

wgNo ABC STANDARD CAGE ON 2-SIDES.idw

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Steel S235JR
NS/SS-EN 10025-2

Above 4000
+8

to 4000
6

Above 1000 Above 2000

to 2000
4

Above 400
to 1000
3

Above 120
to 400

General tolerances regarding the construction welded
according to NS/SS-EN SO 13920 class B

to 120

Above 30

07X3
0601 N3-Nd

VAR 7ANWA VA RN/, @R, VAN WA N\

A NNA AKX N NN XA N\ XA N

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. All indeterminate welds: T-welds as fillet welds a = 3

Comments

XNCXAN XA XX AN S
ANANND .V ANV AVAAN
XN XA XX A NG ANXANN
ANCXANDIA XX N\ NG ANNXA N\ XA
RO N XA\ RN X A\ AN\ XX XA

A\

NN XZ7A X /X NS\ m\"h& A N\_N ,,,/..m'«ﬂl "4 .MV/
. PV AN, \AANND 288
‘ N A AN SO NN WX X/ A
e el AARNEOAR N KA XA S NN
N\ N X\ N XA XK XA AN
NN AN SRAMVIAVAIN.
NN | WK 70T @AY AVA! AV AVAANANR . N\
LM | W SRR Y AVAA M/ NAS X N=
\ NN R T AVA AN WVARRNE0% NN

W

= /
- J 2 [ 777 7 777 7 77 7 @)Y ‘.\

7L/ [ L [ [ 4
Ny L Attt 7/ L/ [ L] LY [ M)
: T L L LA LY )
2/ [ L] [ A L A
(L] LI [ [ )

X SIS/
X_X_X WX X XA LT [ 1) [ 47
WX X WX X_X X XU 1) | 4
XX X X X XN

\ ' WA W W W

VLN

7




CAGE ON 1-SIDE PERFORRATED.idw

0

Wall bracket for door

&

@26/1k

EX07X07-dMM

1

.

KKR-40x40x3

"

Details: see folder
Lock system

"

1ybiay

n

sabuly / wajshs w07,

19p)|0J 33S :S|IeJ3(Q

=

I\
7.,
7
Bl @\
0000000000000 0000000000
xoooooo 0000000000000 00s"
00000086 )°0000000000000000\
gooooooorooooooooooooooooo \\
$0000000:90000000000000000 |
9000000006, 0000000000000000.
=oooooooooo10000000000000000
®e000000000NGO0 00060000000
_000000000003‘00
00000000000 (N}
ecco00ccsvooos N0
eoco0000000000CY

[ X X J

(XX & J
0000000000000
(N R B J

LR X

000606000000
00006006 OGCOGOIGISTS

7fddddddﬂﬂiﬂdlll
00 000000000080 000:000000 000000000
:oooooooooooooooooo oooo%#oooooooooo
©9000000000000000006) 0000 /0000000000
0000000000000 00000 000 |060606000000000
:000000000000...00000 ..%;.00.....0000
0080000000000 060000CCS"
:.0‘.........‘........' d“
0000000000000 000000000
:...........oooooooooon
0000.0..0000...0...0.0

CO0OGOOINNO0000POOOINOININOIOGS

9000600060000

0000006000606 0000 0
90000606060 060600000
©00000000000000000000000 7000000 7000000000 /
:? eeecv0000000000
G0N GO00000C000C0000000 (100000506000 0000CCISITITE

dajs

————

e e e e

PL37x0x4

Vi ansvarar ej for trappans stabilitet vid infastningspunkter mot omkringliggande konstruktion

Moster Skuggas Vig 7
6411 ARVIKA SWEDEN

Tel 0571-181077
ww.abesolutions.se

CAGE ON 1-SIDE PERFORRATED.idw

Ritn.nr
DwgNo

surface treatment

Ytbehandling

Ref dwgs

Tifel
Titlg

Konstr. | 13.01.22-TM

R

Materi

Steel S235JR
NS/SS-EN 10025-2

General tolerances regarding the construction welded

according to NS/SS-EN SO 13920 class B

Above 120
to 400

Above 4000
+8

Above 2000

to 4000
6

Above 1000

to 2000
4

Above 400
to 1000
3

Above 30

to 120

EIE

X3

0601 N3-Nd

Comments

1. All indeterminate welds: T-welds as fillet welds a = 3

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

48,5

06l

15,0

Made ready for lock case:

Assa Abloy

LK310-50, LK311-50

LK&10-50 and LK&11-50.




ASSEMBLY OF CAGE ON 1-3IDE PERFORRATED.idw

DET.1

DET.3

A\ﬂ\m\~\

/)

&
> .
T loluululuyulg|lu|ldgls
S|l |= ~ & =
fa1 — oo | @
—-— o= 5| =
[%) ot B I
5 iszi| &
= g223| g
@ szl =
= s.o8 | &
2ES 3
@ o E533| 0w
par = MTw&.
[ [~alf=a) = g =
clmm|l<t| | ~|luw|luw|lu]E
<< |<c = o
—-— (= (=}
<7} s <
o a
o .
= )
5 =3
z
=
~— SNl |~ ||~ ]|5
=|IE S| EmS|E
O lo|Ivo | ool o
| | F |~ |F|F |~ ]|
=
Plolololo|lao|lo|lola
AR 2 AR AR 2 R R R K2 R K2 R 2 Bl
SI= L= L2 |= =L =
SI~|~|~|~|~|~|~|= =
= . &
— M|~ F || M| F|un|> g =
LniMmmMmimla M/ |~ =
|||~ ||| — |2 25 &R
= =
Z I = I === |==|= e
===z l=s=== 27 =
OO Al al/)e e 2
wn e
w | €
5.5
|5k
- - ©|l5g g
— (= = =|g: 2
o | =2 =4 PN 2
= 2
- | =] .
TS |= 3|5 ||
[ZR-7] © =] [
- = | =2 — = |~
= | = 2 |= ==l g
T |= |7 |7 | = = o
E|R2|lc|S|S|lc|ols|2 E
U | S| O | o+ |o| D= o
0 | on| O o on| © — -
[ ) o — |l m| >x<| —|>=
" > | @ <
o< | X || /| x|X| X - 2w 5
Y] v | | = z2 24 g
c | v | w»n [7,) z e 2
== |= o= P4 SRS
i S |2 ==
= = = | =
~ (=2 ~
> | =< >
X | o o
= = = R
£3
o~
1
[¥a)
2
mn <9
m <
me
v =
—
TRl
[T Y]
—
— v ~
= [%)
g =
2
8
g
s
o
P
h=] 2
51 =2
=
T
=
nnDWO
S v|Y8 o
= v = §
T ®l5=
S T2
2
_-— O
[N
ngo
S IEg
v ole & F
...m.,bm.m
o =
£
2ul,
m Wuv (S o
g/lnw
%A R
- =|5=
n =2
a2
c o
=4
L 2ITs
™ =
[
[}
c
@
SRS ERE S o R o
o S o
®OCUNUCNACRNNRNARNNG NS wJ R
=2

CheC"tTTwNRVAY Y
B A B R A N S N S RN NN .. & N
AR SR AR AR LS R LR LR SR RN
LA R B S AL LR LR R R R RN BB

«“aw LA A B R B S SRR R R B R F S T
S T T Y / T
LSRR ANRNRNRNB NN WY,

- e wewew
LR SR S R R R

/4

P R R R R W/ LB RS R EE SRS SR RS ©
.M WA W N %N uenw %% BN NN % \AB LR L SRS RS B

Tesssssasanaan blllAa.@ CSLheNNNBNBRNS
R L T N R S B R S W S W ® LB BB B B RS R R E R
L R R R S T T T T T T T T Y

P WAV OBVARTATRDRLBTND DN - LA BB B R R N AR
*HeWVRWDTBVRARNRTLBROCCRCDTRRNROAENS -
AR R B B B S L LA R RN L R R R
- enw: STtsavwTTARNRRTGTRS
R R R R R L L A R R LY
S I T I W R
AR B B B R S R W
A A R AR L B B BN R N
"eULULYRERDE

TGS OO OIOOOEIOTOP PO OOOOOOEOSOSPSeSeSy

PP S R Y I

DET.2

DET.2

07X3
0601 N3-Nd

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. All indeterminate welds: T-welds as fillet welds a = 3

Comments




CAGE ON 1-SIDE PERFORRATED.idw

f

4l ____LL[ L L/ BN\ /

VI A/

Comments

1. All indeterminate welds: T-welds as fillet welds a = 3

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

PN-EN 1090

EXC2; CE

General tolerances regarding the construction welded
according to NS/SS-EN SO 13920 class B

Above 30 Above 120 Above 400 Above 1000 Above 2000 Above 4000
to 120 to 400 to 1000 to 2000 to 4000
1 2 43 b 6 +8

Material

Steel S235JR
NS/SS-EN 10025-2

Anfal
Quantity

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Tifel
Title

Ytbehandling
surface treatment

Massa
Mass

T Y
E’@ enisoms s | 1:20

Ref dwgs

Moster Skuggas Vig 7
6411 ARVIKA SWEDEN
Tel 05H-18107%
www.abesolutions.se

Ritn.nr Rev

Konstr.

|13 01.22-TH DwgNo  CAGE ON 1-SIDE PERFORRATED.idw

Sod




CAGE ON 2-SIDES PERFORRATED.idw

© ©

EX07X0% - UMM

walshs yo7,

@ +1 pc mirrored

64171 ARVIKA SWEDEN
ww.abesolutions.se

Moster Skuggas Vig 7
Tel 05H-18107%

CAGE ON 2-SIDES PERFORRATED.idw

Ritn.nr
DwgNo

]ﬁ General folerances
Ref dwgs

surface treatment

Ytbehandling

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion

Konstr. | 13.01.22-TM

Tifel
Titlg

Steel S235JR

3P0} 33s :S|IeJ3(

J—

ey

]

000

Ve
1‘

: m:ﬁ g

‘i‘iTi‘i‘in#

9000006000000 00

e

0000600000000 00000

i boosossesosrossven

7..
“ EE NN RN AN RN NEE NN E NN B ‘

sabuiy / wayshs ya07,

13p)0J 33s :S|IeJ3Q

00000/‘0.0..0
eessc0 000000
20000048 0000

©00000000.0000000000000000
10000000006 0000000000000 00¢

ooooooooo”/
00000 c00. | ¢
o000®OOGOOISIS
0000000 GOOS
°

seesecsssses

ec0ecccsseeros
evecsscnecoonny
‘e0000000000000

ooooooooooooof%
000000OGOGIOGIOGIOISIS.
0000000O0OGOGOGOGIOSIOGIS
000000000000 00

00000000000 000080806
S0 0000000000000 00060
200000000000 0000000
00 00G00000600OOCGOISIOS
S0 0OSO0O00COESISIOSININIOGOGIOIOS
®000000000000000000
©0 0000000000000 0000
COOOOOOPOINOIOOOIOOSNSS
0 O0PCOISGIGOIOOSIOIOSIOIOSIOINDS
o00COOOGOIOOOSIOSIOBSIOIONOS
A—FFEtFE

s00000000r
s0c00000 &
00000 00

i

dajs

No profection sheef

NS/SS-EN 10025-2

Materi

Above 4000
+8

Above 2000
to 4000
6

Above 1000
to 2000
L

Above 400
to 1000
3

according to NS/SS-EN SO 13920 class B

Above 120
to 400
2

PL3#x0x4

L0x3

General tolerances regarding the construction welded

to 120

Above 30

07X3
0601 N3-Nd

<:> L40x

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. All indeterminate welds: T-welds as fillet welds a = 3

%
Comments

48,5

06l

15,0

Made ready for lock case:
LK4&10-50 and LK&11-50.

Assa Abloy
LK310-50, LK311-50




ASSEMBLY OF CAGE ON 2-SIDES PERFORRATED.iaw

&
> .
T loluululuyulg|lu|ldgls s
S|l |= ~ & S
(=} = 25 ol %
wvr v w
= w - 2 o
S 5252 S
~ E =] o
@ LR &
=] 5 _n% a
s BEZ: %)
a =) £32:| &
[== = @
e [aagNaa] = o
[ Nea) - Sl |lu|u]E =
] <\ < |< = z
w w
@ g =)
a3 o S
o .
£ )
5 =3
2z
=
N |~ | N || >
FNEmn|S=m| DS x
o lo|lvo | ool o
|+ | F |~ |F|F |~ |c
=
Ploloololoo|lols
AR AR R 2 A2 A R 2R R 2 A N2 B Fel -
o | — | — || — |~ |E= =
= . &
4 | = | = | <+ N| M| 4 | > s =
LM M imle ™M m| |- 5 S
NN N[ |||~ | 25 &
= [l =1
=Z=E = === =|= e
= ==z l=s=== =7 =
ool oo a|lols -
wn e
(%} z
= z
s ob
|5k
+— = = Sl2k H
= | © o “les %
a2|a o 5 £
“_h Q O ¢ Q 3 Bl | =
o .
< 3 3 =
1 w3 | @ Sl (=2 9]s
— n. — |= c | = (= m =
T |= | < | = 2 &
[ = | © <
LA A A A A YT X R SRR E E
(am) o | S|lo|lan+—|o|lD2]|= =
oDl o | E .I 1= |
o |2 |x|a|2 3| S| c
o< [X ||l =X |X| X s 2 4
clo|l2 || a|lX|T |5 22 24 e |
= _— _— [%] EE £ 2|
— [l
e ® = >~ o
(= LN
. = b3 = =
o (2 o~
>< | > >
X | o o
= |= = R
£3
o~
1
[¥a)
2
mn <9
m
o~
v =
.
7} 1
[T Y]
—
_ I
] [%)
g =
2
8
g
s
o
P
h=] 2
@ =2
=
T
WBWO
S w8 ¢
= w|gF R
o ®| s e
S T2
Ln”O
v o~
S &ls
S Es
@ oles| F
=Y|3=
=2
o =
£
2w
o wn (S o
(= e =1
[N R
“=Zl5=
n =2
a2
c o
=4
o Dlsg
@ S
25|33
S=
= ® %
i
[}
c
@
(=) R o
o S o
el "
8=
=2
'
EIRA)E|
TLUVURARVUAVRALRG QTGS G AN 0601 N3I-Nd
VLUV VUAVRALUALALLE SO 0N
TNV RCARRNCRARRRE S s _.
LUV AVRAULAARLRERD S =39
CVTLLVURVRALRARULLLE LGS w = &
TLVUUVLALAALALGLE LS 0D N 3mc
- w a3
0= o
w23
=2
T = G
wws
. <
283
=]
LR RS S R Y L %W;:lw
LA RS R R R R R R R L R S S Y w5 S
S R R T R =z e g
T UBVWVRLRVRUABVVLTLURNG N TGS £ 82
TUBCUVLACBRRNARVDRCCNN DS .|_.WW
L R B B R H on O
R T R R = £ 8
R R RN NN $ 25
STeseneRTARNTLTLIRURSTD NN hwﬂ\vu
AR R R R R A . B R RS RN R RN Mfg
AR BATBTRERTCTAIRNBRRNDTBTORED E ° &
TWOCACUTERTCDRVCRLARDRRITLBS WWL
- CSseseBnesLTERGERIRAS s 2
> % ® & s £ e -
S s = € £
EZSE
S .
S = m

/,OOOIOIOIOOOII""' \
/,“""""'.“"' AL B ER L L E LR LR DN
/4100'0'000"'0000“"""".’..'

/ “m A mmanwaRrrRRR  wewwwNRNRWNw
A N T R S T N AR B TR I L B
A S S L T B B
Tsawssasrss  caewnsansnsann
sswwsassarsessssassannan
A S S S LA B B BB RS R R AR 1
/”""' LA S T RN Y /,J""l"""'!,.,
LA AR SRy A S RS AL R LA LA AR L AL O E LA LA LR R R RS BE BN
.\ ™ ww e CTVVVRVVRULAVCALABL \ LR CBARCRISRB RS
N = wae llll'llll'l"lllll//
- LR R R S LR R AL AL R AR R N
L MOV RBT TR RCRE RO RO
» S aseseeBeLRTRLRBRBABRES
"W "EREUBBRVBTRDRCORCERRRNES AR LRSS R AR R R RN

R B A B A R Y A Y S A A P R R

T YOO OO TOIED SO OPOOOOS /DO OPOSP OSSO OSSPOSSe
y ]




CAGE ON 2-SIDES PERFORRATED.idw

Rev

g
8
=
3
<
x
B
z
g
2

= A
»Z g
wEZ :
2533
2322

DwgNo CAGE ON 2-SIDES PERFORRATED.idw

Ritn.nr

Gen. folerans
General folerances.

surface treatment

Ref dwgs

Ytbehandling

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Konstr. | 13.01.22-TM

Tifel
Title
Massa
Mass

Anfal
Quantity

Steel S235JR
NS/SS-EN 10025-2

Material

Above 4000
+8

Above 2000
to 4000
6

Above 1000
to 2000
L

Above 400
to 1000
3

Above 120
to 400
2

General tolerances regarding the construction welded
according to NS/SS-EN SO 13920 class B

Above 30
to 120

07X3
0601 N3-Nd

L S S S S
TwessaNRwNn >
L T VWUV UAVAURURNTVLDNLLRLQAGNQ N\

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. All indeterminate welds: T-welds as fillet welds a = 3

Comments

T WVOCWVUWRNVRUWDWRWUWRUVWRWRLRRDBDOCTDQS
saws 2 VDV VWAL VUV RUNDBAGNTTNYS
LR T B Y TV VUAWWRLRWVWNLRAUANORLLNRNOE R
X B N S N .Y r 2 VVVWVWVWLLRRVLRRUTNLN 0 QN
XX T X T R LV VVLUVLVLRLAVLLVVNDTRNN D b )
T STV VYDVNVLTNWRVRVRATTLNNATDLITTOS
LR R S S B B 2 TRV TBANTDTRADISC
2 D999V LVRCDVUVVTDRLUNN Q0NN
X S RN R R 2292 LUWNVTVVVULOCLLLTBODLD N\

DTV TV TV DLTDNTLUVLVN2NTTLRLTTQLRDBOGEYS
LA A A AR A A AR S22 R AR AR R R R AR AR R B R B RO

*CV VLUV RN WUARAR AN * VBTSN
TR LA RS R N S N AR AR BN R R RN RS A\
ST TLWRWRARLRA R RN D > VWUV DWDGOEED
LA B S S SRS N Y SSasan PV QOEY
/ PP T UV BB VBB GLARRRTAN S A LA R REER R X RS
T I I I I S S . ST S T2V DBDDBUED A A AR AL R R B R R B RN }
NCC LUV URLLEELUNVWVAVWVARQ) £ T T CVLLTVUBLLLLLLLDLALLT ZVTVULBBG22TTQC A\
,llllllllﬁaﬁllllllll,/ sxsesae " CTVVVUVVLVLAVULE YWV TCOOATOD
TR EEETECEN SN ETCECEON > » @SBV TBIRNRNTRINY A AL AL LR L AR AR R R A RS
R N O N N OO S R TUVVLVAVIVLLE NVWVWUWVVBVOOVOBOOOC
" TNV UVVWVULLLLE LRGN CIRIR R B S22 GLE PV WWWLLATNLTROEDINED
R RETERERE e INENR R B X - TPV OLBTOLD PV WVWVWVVCLNOCTBSTETDTIQDGS
carsrsarrssrr s ccesa\N- L acvena TLLLVWNVLLE NVVVVULUVVLVUADQ22VR DD SN
NN TR R R re eI NR PV AVVLVAVRVTVUROBOO
R T T XY e
Y eSS TTTBUNBOCRNTSTTDRNGY
I G G, Y ie s s b oBBss. 0808 oo00e [’ T O00S s sss s S s s s
TN VTVWVLWULTLUVRLUVNNNS i o b0 BB N TO00 RN & B N T N NN NN N i A
A S O Y S W N e Y S % 5 5 600000008 Ve OO )PP IO TSSO L &
T e — > ® )P OOO PP PSPPI PO PSP

BT e N B F A A y & ) P eS L & N RN S » S
“ " w"mw"w"wwwWwwWwww 6 6 6 P66 VS 680680880 tOoSe ) & 4 L& X4 r e XX RN N A
Sw B wasassswawN A6 608 CEA 2 NE L0080 008 %S 2 A X E X EEXEEEE] L A
LA S R S S S RS SN Y S a8 680 @aa VML es e /e L 4 L K B & . o
S A RS S SR LN T S 6 8 48808 FaNEaeseeses /O A A A R X ® S
/llll’llll [ S S T T T N Y A R T Y R R B ERVAE R A R A o o
S S Ssasas 8 8 0808066006084 06 S A 0080608606 /iaoe e SSOP SOoOoeSe L X A
N *ssenaan CFHLPH P R R R R R RS (PR S e & 8 8 0608 /i o8 s @ B L & N A
SSTsTaws S 4 8 8 86 0064800000008 VFsaesa /dees e Sy P OO P OO
P> W S 6 & 0 680 0000848604848 VVYEF A /oae 00008 MOV > e L 4
/."" S 5 6 4 & 0 008 08000608080 Vs e /se s s Spove
LIS S S S I T T S S T T N S T T SRR S S S AT S S Y S T S S A S SR
® 6 6 6 8 8 0SS B LB LLBENNNENLE /G eess e e e

2 9 0 0. B 0 8 8. 8.6.0 0.8.0. 000 0600 Va4 60000808088 8. 00800 e
,




	ABC STANDARD CAGE ON 1-SIDE
	ABC STANDARD CAGE ON 2-SIDES
	CAGE ON 1-SIDE PERFORRATED
	CAGE ON 2-SIDES PERFORRATED

